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ENGLISH (#arast)
All questions are compulsory. Each question carries one mark.

1. She made me ...

(A) to wail

(B) 1o waited

YC) to waiting

(D) wait
2. He was very kind ............... others.

(R) of

(B) on

(C) to

(D) at
3. Did you buy .......... pen?

(A) some

(B) any

(C) many

(D) little

4. Choose the appropriate Passive Voice form for the following sentence.

I know his ways.
(A) His ways have been known to me.
(B) His ways are known to me.
(C) His ways was known to me.
(D) His ways were known to me.
5. Which one of the following sentences has been punctuated correctly?
(A) He asked me why I was crying.
(B) he asked me why i was crying.
(C) he asked me Why I was crying!
(D) He asked me Why/jwﬁis crying.

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam


bhinder singh
Typewritten text
2022 paper


6.

10.

He 1s hardworking ~he s notantelhigent,

(A) because

(B) so

(C) but

(D) therefore

Rita ... speak English fluently. (ability)
(A) maght

(B) may

(C) must

(D) can

Name the underlined subordinate clause.

She is the girl who helped me.
(A) Adverb Clause

(B) Adjective Clause -

(C) Noun Clause % B
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(D) None of these

Choose the correct Indirect form of Narration for the given sentence.
The peon said, ‘I want leave for two days”.

(A) The peon said that he would want leave for two days.

(B) The peon said that he was wanted leave for two days.

(C) The peon said that he wanted leave for two days.

(D) The peon said that he wants leave for two days.

Choose the correct Present Continuous Tense of the Verb in bracket.
The boys .......... football. (ply)

(A) played

(B) have played

(C) are playing

(D) play
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Read the followir 'S : .
g passage and choose the correct options for questions 11-17,

Long H.B*'- men spent most of their time looking for food. They ate anything they could find.

Some lived mostly on plants. When food was scarce, (hey ate the bark of trees. If they were

“‘Ck.“’: they would find a bird's nest with cpps. People who lived near the water ate fish or
‘”‘_)'”""g that washed ashore, even rotten whales. Some people also ate insects and small

animals like lizards that were casy to kill. Later, men learned to make weapons. With weapons,
they could Kill Targer animals for meat, At first, men wandered from place to place to find their
food. But when they began to grow plants, they stayed in one place and ate what they could
grow. They tamed animals, trained them to work, and killed them for meat. Day after day,
people ate the same foods. Gradually, men began to travel greater distances. The explorers
who sailed unknown seas found new lands. Here they found new foods and spices and took
them back home. The Portuguese who sailed around the stormy Cape of Good Hope to reach
China took back ‘Chinese apples’, the fruit we call oranges today. Later, Portuguese colonists
carried orange seeds to Brazil. From Brazil, oranges were brought to California, the first place
to grow oranges in the United States. Peach, persimmon and melon also came from China. So

did a new drink, tea.

Questions :

11. What did men eat if there was shortage of food ?
(A) rotten whales
(B) bark of trees
(C) roots of trees
(D) bird’s eggs
12. What did the people who lived near water eat?
(A) lizard
(B) eggs
(C) insects

(D) rotten whales

13. At first, men wandered from place to place to find their food but they began to stay in

one place because ...............

(A) they had begun to grow plants and eat what they could grow.
(B) they had begun to tame animals and kill them for meat.

(C) they had begun to train animals and kill them for meat.

(D) All of the above.

{5}
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14. Which fruit was known as ‘chinese apple’?

16.

17.

18.

19.

(A) peach
(B) melon
(C) orange

(D) persimmon

- People used weapons to ............

(A) cut down trees

(B) kill larger animals

(C) only option ‘b’

(D) both ‘a” and *b’

.................... Was the first place to grow oranges in the United States.
(A) China

(B) Brazil

(C) Cape of Good Hope

(D) California _ -

Which one of the 'fol_;l_npwing words means “in ,sh(-)ri, Sl:.lppl&’?
(A) scarce '

(B) tame

(C) stormy

(D) rotten

The author of the essay, ‘Secret of Happiness’ is ...
(A) A.G. Gardiner

(B) Oscar Wilde

(C) Norman Vincent Peale

(D) Dr. D.V. Jindal

“Why are you weeping then?”

In the story, “The Happy Prince’ who said the above-mentioned dialogue?
(A) The Prince

(B) The Swallow

(C) The seamstress

(D) The Mayor

ite : itori i & preparation of exam
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20. Della, in the story, ‘A Gift for Christmas’, sold her hair for
(A) $25
(B) $08
(C) $1.87
(D) $20

21. In the story, *The Home-Coming’, who was the ring-leader amongst the boys in the
village

(A) Bishamber
(B) Phatik
(C) Makhan
(D) Phatik’s cousin
¥ & P — is the poet of the poem ‘Razia, the tigress’.
(A) James Shirley
(B) Rabindranath Tagore
(C) Keki N Daruwalla
(D) Sir Henry Wotton

23. In the story, ‘Bed{Numbers29’, after 4ll the paintingshad been sold, the narrator found
himself ready for the ...4....... operation:

(A) first
(B) second
(C) third
(D) fourth
24. In the story, ‘One Thousand Dollars’, after talking to the blind man, Gillian went to .....
(A) Miss Lotta Lauriere
(B) Miss Della Stacey
(C) the lawyers
(D) Miss Hayden
25. In the story, ‘The Dying Detective’, who was the landlady of Sherlock Holmes?
(A) Mrs. Hudson
(B) Mrs. Smith
(C) Mrs. Watson
(D) Mrs. Holmes

Set ‘A’ {M-XI-22) {7}
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26.. In the story. ‘Half a Rupee worth'c how much rice Al Sabbbahy swpree 1o welfy

(A) one scer
(B) half a secer
(C) two seers

(D) three seers

' " [ qn ' .
27. In the story, *‘How much Land Does A Man Need', the price of the Tnnd of ihe Washy,

Was oo

(A) 5000 roubles a day
(B) 1000 roubles a day
(C) 2000 roubles a day
(D) 2500 roubles a day

28. Choose the meaning of the idiom, ‘at par’,

(A) on equal level
(B) everywhere
(C) rated low

(D) simple and pure

29. Choose the appropriate word to completé the' fallawing proverb.

. knowledge is a dangereus thing:

(A) bad

(B) scanty
(C) little

(D) very little

30. Choose one of the following words that can be used as a substitute for ‘objects having life’.

(A) ambiguous
(B) inanimate
(C) inambiguous
(D) animate

Check website : www.meritorious.successadden
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MATHEMATICS (aifzT)

I All questions are compulsory. 11, Use of Caleulators fs not allowed. 111, Each question
carries one mark,

I W9 yEs Wyt a1 11, Angded ead o wofar wat 31 111, Ta (uE o e v 3

L 1 and b are two prime numbers then what will be their HCT?

(A) a+b B) a-—b

() axb (D) |

Had a W3 b @ WIw Afret ox 3t feast Afimret o w R . @t JEa
(A) a+b B) a-b

(C) axb (D) 1

32, Which of the following is a imational number?

(A) 1.101010....... (B) 1.10100100010000........
(©) 1.10 (D) 223
75 fedot 5 feraet R i ot 32 .0 0 0.4
(A) 1.101010....... ., SUIE/C16i6010000060.21...
(€) 1.10 (D) 223
33. 65 x3V5 isequalto
(A) 8J5 B) 95
(C) 18V5 (D) 90
6v5 x 35 Hareg -
(A) 8J5 B) 95
(C) 185 (D) 90

34. Thevalueof p(x)=2+x+x> x> whenx=01is
(A) 2 (B) 1

€ 4 D) 0
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n) 1

pA)=2+x+ v

(A) 2

() 4 (D) 0
' jal X2 -77
35, What will be the sum of zeros of a quadratic polynomial x~ + bOx

(A) 6 (B) -6
(©) 8 (D) -7
éw*a?agu?f+m-7ew+fnza+e*ﬁ3a‘raéarf?
(A) 6 B) -6
C) 8 D) -7
36. A real number k, is a solution of the polynomial P(x) | —
(A) P()=0___ B) P(k)<0
(C) P()>0 = D) None of these
ernafeaﬁfuwrk,aguvp(x)?fnza;f@%ﬁaa ............
(A) P(k)=0 B) P(k)<0
(C) P(k)>0 (D) None of these
37. How many zeros a quadratic polynomial cannot have?
(A) 1 B) 2
(C) 3 (D) 0
fir awrdt ggue © fas faga 41 T AAE?
(A) 1 B) 2
(C) 3 D) 0
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38. If 2x + 3y = 2 and 4x - 3y = 4, then what is the value of x + y?

41.

(A) | (B) 2
(Cy -1 (D) 0

HET 204y =20 dv -3y =4 T It ¢4y T YT ST TSI

(A) 1 (B) 2

(C) ~I (D) 0

For which value of k, does the pair of lines 2x — 3y = 6 and kx — 9y = 18 are coincident?
(A) 2 (B) 3

€)1 (D) 6

k ¥ YE UIT IT HAG TR 20— 3y = 6 M kx - 9y = 18 AUTST T=7
(A) 2 B) 3

(C) 1 D) 6

"Z;I’plai{l O‘ie‘élit_ief Eﬁiﬁf é f;ctlr o, 10y = 0 has unique solution?
., Suesess Adda

For which value

(A) k#6

gt

(C) k=6 M) k=10

k @ fan 1'E Bt ot mftagat € A3 3x + Sy = 0 M3 ke + 10y = 0 & o fesye T
JEar?

(A) k+6 B) k#3
(C) k=6 (D) k=10
A pair of linear equations ayx + byy + ¢; = 0 and apx + byy + ¢ = 0 has no solution if .......... ?
4 b .9 4 b
(A) ay b, e, ®) a, b,
@ "’l _q _
. (D) None of these
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me l{m ”l‘ 4 h‘.‘r 4 1 - [) "{j H.'!\ -+ h)\' + f‘) = ” ?T m tT'H‘ m %
5 w\f

ul . hl l" ”I 7 bl
(A) a, " b S (B) a, b,
i ! «
©) :,i . ’2 . '.t (D) Quaas @Y avt 54
42. Which of the following is a quadratic equation?
(A) @r? + by + c (B) ax? + bx +c=0
€) av + b (D) None of these
IS fafrt fe faoat Swt mites 37
(A) ax® + bx + ¢ B) ax*+bx+c=0
(C) ax+b D) Suaaz &5 Fet aaf
43. Which of the @Iloﬁi@é‘is_a SOITE] of the quadratic equation x2 + 5x — 6 =0 ?
\ W Weuwtauaus
(A) 2 @c3 A dda
€)1 D) o

fag=r Surst miteas 22 + 5x— 6 = 0 o s 7

(A) 2 ®B) 3

(C) 1 (D) 0
44." A quadratic equation ax? + bx + ¢ = ( has two distinct and real roots, if ..........
(A) b* ~4ac >0 B) b*-4dac=0
(C) b*—4ac <0 (D) b -4dac 20
mmaxz+I)x+('=()@§mmﬁﬁﬁ—ﬁﬁwﬁ‘éaﬁﬁa? ...........

2 Ao
(A) b* - 4ac >0 B) b -dac=0

(C) b? - 4ac
) dac < () D) b2 -4dac20
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47.
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ifa, band ¢ are CONSECULIVE topg ol an A
! mApP

then
(A) h n:r
- ”n h -
2
adb
(C) = =3
) D] ra u‘h

-

m...p,ma«-ﬁm»hmfmuwwmmmwmw

(A) b= 3 ) hate

|r|«v"3h D) ¢t

IWa, = 3n 45 then ayg e )

A 53 ) 40

€ & (D) 8

RET = 3n 4+ ST e ! @ . . .
Mernitoriows

ats ~_ ) Srecess Adda

() 45 (1) 5§

I the coordinates an a point are (4, 0), then it les In

(A) r-axis () veuxin

()t ongin (D) Detween vaxiy and vaxis

A foon fhrg @ foaom v (4, 0) ow, wt fiea My (it i &

(A) vyb & () vue @

() yw fig 4 (D) v U0 e ygd O feuard

What will e the distance of o polit 1'.(2, 7) from v axis?
(A) 5 (m 2

(w7 (1 0
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(A) S (B) 2

<) 7 (D) 0

49. Sides of two similar triangles are in the ratio 4 : 9. Area of these triangles are in the rato
(A) 21 By 1.2
(C) 81:16 (D) 16:81
g\nwgufag#wm?mmq&lwmﬂ*%mwmmm
(A) 21 (B) 12

(C) 81:16 (D) 16:81
tmangles.

50. Two triangles having same shape but not necessarily the same size are called

(A) similar (B) congruent
(C) rghtangle _ _ (D) none of these
ahawhﬁrewmmm%wu&awwmﬁ% ......... fagw Qe T
| (B) FOWTTH

D) feost f@F det st

(A) RAHgU
(C) AHAET

51. Which of the following is not a congruency rule?
(B) SAS Rule

(A) SSS Rule
(D) ASA Rule

(C) AAA Rule
%W%‘WWF@?%@{W&“
(B) SAS f&um

(A) SSS famH
(D) ASA fawm

(C) AAA fETH

52. The number of lines that can pass (hrough a given pointis

(A) Two (13) only one
(C) infinite () none

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



o' fig &9 dwe I8t Juret & foredt § -

A) € B) free fea

(C) Mo Oy Fet &
53, Ifsin 9 = cos 6, then the value of 0 is equal (o :

(A) 30° (B) 45°

(C) 60° (D) 90°

ﬁ'a'asin9=cosBE+GET}_{:&'8€r"ﬂ'u'a'—~

 ww o 45
(©) 60° (D) 90°
= d the value of A.

54. Iftan (A+B)= 3 andtan (A-B)= 5 then fin

A) 30° B) 45°

(C) 60° (D) 90°

3 L igtier e usrad|
3o tan (A+B) =3 wig tan (A-B)= 7 FHATTHE

(A) 30° B) 45°
(C) 60° (D) 90°
55. Which of the following cannot be the probability of an event?

3 ®) -1.5

(A) 7

(C) 15% (D) 0.7

%Wﬁ%hﬁﬁﬁwaﬁmﬁﬁmﬁ?
2 ®) -1.5

@ 3

© 15% D) 0.7

S
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58.

59.

Probubility o event o Probability of anevent not 22" is equnl 10
(A) 2 1
() (1 0
WesT et HETRET | wesr ‘a0 o e - J1
(A) 2 B)
(O (D) 0
+ The mean of (he data 10, 7, 13, 20, 15 is
(A) 13 (B) 22
() 24 (D) 28
"II 10, 7, 13, 20, 15 THUNS T -
(A) 13 ) (B) 22
(C) 24 . (D). 28
;I('r Lax::::t;l:g :r:cs ;B; af]rct):] a point P to a circle with centre O are inclined to each other at angle
(A) 60° (B) 70°
(C) 80° (D) 50°

(A) 60° (B) 70°

(C) 80° (D) 50°

A line which intersects a circle at two points is called ........ of the circle.
(A) secant (B) tangent

(C) perpendicular (D) none of these

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



(A &VT Iy

By WZH 3
(, &y

(M faxt fed it 5N

. The bmpest chewd of e cucle
(A Wadus By A
I Arc

(C) I naneter (D) Segment

qgus N ny I ¥ e L FA 3
JA;mm (B) I
() famm D) 4F

61. If the perimeter and the area of a circle are numerically equal, then the radius of the circle is

(A) 2 units : e 4, (B) m units
Meutaruous
() 4 units L) SuccesswAdda
g fain gag e ufanry w3 igees Afenrava gu feg woree 75 37 G Sa9 =
i fani 3
() 2 feardtmt B) nfeaem
() 4 feamémst (D) 7 fearepHt

62, Arei of o sector of angle /' of circle with radius R is

L ni?
1% 0 (B) XM
(A) ’“‘,/21:1 180
P x 2nR?
(©) 0 % 20k U /e
A0

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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MERTT & —

A P ,
W) 180 X 2nR (B) '”{;0 % wR*

) £ Y R 9
’ 360 % 4K (D) -750 x 21K’

63. Which -
2 of the f ine is :
following is not a measure of central tendency?

(A) Mean (B) Median

(C) Mode (D) Range

I3 fafont feg faosr aoqt yfeast e vy aat 37

(A) HOH™® B) Wgar

(C) g8 (D) feo®s AvT
64. The angles of a Quadnilateral are 90°, 75° and 90°, the fourth angle is

(A) 90° : ®),95°

(C) 105° (B)r+120°

999 € 35 d= 907, 75° M 90° I, Far d= T -

(A) 90° (B) 95°

(C) 105° (D) 120°

...............

The curved surface area of the frustum of the cone =

(A) w(ry+nr)l B) n(ry+r)h

(C) 2n(ri+ 1) ! (D) mrl

fa ©f feze ©f 259 AgT € 43988 €7 B39 -
(B) TC(I'|+I'2)11

-----------------

(A) TC(I‘I +I’2)l
(C) 2m(ri+ 1)l (D) mrl

Set ‘A’
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66. In Electrolysis of w t
aler. which £3s1s formed on the cathode?
(A) Hydrogen
(B) Oxygen
{C) Nitrogen
. (D) Methane
et T femsa 3 e 3
TINTE 5 383 T faust g =t 37

(A) TEIZHE B) it

(Cy m D) WEs
67. The magnetic lines -

(A) Imtersect one another a1 9(° (B) Intersect one another at 60°

(C) Intersect ope 2 45; a (Dy Do not intersect one another

o .\ Vewtoruouws

ﬁl =) Hqrgr

: _) Success Adda

(A) f'ﬁra—raw aazzﬁvrrraa ®) feaen & 60" 3 Teetd T35

C FagadssIgcaraas m) feaead s acern
68. Whes zinc metal is reacted with H,SO,, the gas evolved is :

(A) Oxygen (B) Hydrogen

(C) Carbon dioxide (D) Nitrogen dioxide

7% 57 w3 H.S0, 575 fafeor ae<t 3 3 faszh am o §& &7
(&) wEAREE (B) TEIZIAE

(C, FEEE FEAATEET (D) ZTeVZERE FTEAARES

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



69,

To.

71.

72.

’
l\”“ ||(‘|

o Nlem ing

What s the Chemu al ll\!l'l‘l“'o" (" l

() Nal
(A) Cal'ls |

() Mgt I
(Cy CatdC |

. 7
gy wEe @ arfefes g2 at ¢
L}

() NaCl
(A) Cal’l;

(D) h'}!( 12

¢y CaOCl: o |

{ r treating indigestion?

of medicines is used fo

CS
Which one of the following P

(B) Antacid
(A) Antitwolic

(D) Antiseptic
(C) Analgesic

“ﬁﬁpﬁﬁmmﬁmmﬁammmmwa?

®) WeHAE

Mernitedous
- Sulcéss Adda

~y

The metals have high melting points. Find a pair of metals from the following which have
e Als

very low melting points :

(A) Gold and Silver (B) Gallium and Caesium

(C) Lead and Copper (D) Sodium and Iron

w?arﬁmw@eaw%fé?%lﬁafafwﬁﬁ'ﬁma*w@aﬁsfﬁmm
T3 893 W (Bl 37
(A) AT m3 get (B) &P w3 Fifemd
(C) B8 m3 aud (D) AFPHH M3 nfeds

| Vi i - " als | ordcrof
In accordance with the Reactivity Series, find the correct sequence of metals 1n

increasing reactivity :
(A) Cu< Fe <Zn < Na (B) Cu<Zn<Fe<Na

(C) Zn < Cu < Na < Fe (D) Fe <Zn < Cu < Na

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam
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(A) Cu < Fe <Zn < Na (B) Cu < Zn < Fe < Na

(C) Zn < Cu < Na < Fe (D) Fe < Zn < Cu < Na

Ganga Action Plan was started in

(A) 1982 I
(<) 1954 (D) 1985
gar ReTEl GWaT Hg ai3t Jret-

(A) 1982 (B) 1983
(C) 1984 (D) 1985

i Ozone?
How many atoms of oxygen combine to form onée molecule of

(A) 1 Wy g B2,
" 'l({_j"{.dﬂ :“{' I{ Jj

€3 ~_) Suceés Adda

mﬂﬂﬁéﬁﬁmﬂgﬁﬁ&@ﬁﬁ@feﬁ@wﬁ%?

(A) 1 (B) 2

(C) 3 (D) 4

What is the full form of UNEP?

(A) United Nations Energy Programme

(B) United Nations Environment Programme
(C) United Nations Emergency Programme

(D) United Nations Electricity Programme

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



UNEP gr yar st &
A) WG awea Qan qaranw B) AYFT aHed TIIE Ydrary

(©) Rews gweg dweasts qoene (D) Auag awed fawst (e

76. Which Bas s found in abundant in Biogas?
(A) Oxygen (B) Butane
(C) Methane (D) Carbon dioxide
TfeSdn 9 faust dw =d9 yragr fe's yret Atet 37
(A) »aHtwE B) fages
(C) Higs (D) TS FTEPHIATES
i S 1s used to m_aké solar cells
(A) Copper € By Ziic
(C) Aluminium (D) Silicon
Aot A5 9@z #et ..., ot 293 FiSt |t 3
(A) ayg B) faar
(C) BB D) fAstars
78. Some of the energy derived from the food we eat is stored in our body in the form of ..........
(A) Glycogen (B) Starch
(C) Enzyme (D) Carbohydrate

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



M T e 3 '*?Wma‘trmmmw e qufee
(A) mm By AZ'as
(C) MEwrfey D) @
79. In which part of the Human Respir Hory system., the exchange of gases take place
(A) Bronchi (B) Al veol
(C) Trachea (D) Ribs

WG R ETEY @ e an fe dt e e werss e 4
(A) gITET (B) wwfeGare
(C) &M (AT &8 (D) UASPAT

80. Name the instrument used to measure Blood Pressure is :

/' MeniCoRewees
(C) Sphygmomanometer | 5 11 € C €15} Gabnéméier

Bd T9'9 § HUS T8 UIJ & & EA?

(A) Favted (B) ®IH™MIed
(C) AEtaH&HIZd (D) JE<AHIET

81. Which of the following is a saturated carbon compound ?

(A) C,Hg (B) C,Hy4
(C) C,H, (D) C3He
5 fasfiont et foraar Afgug arows afaw 37

(A) CoHg (B) CHy
(C) CoHy (B) Csbe

Check website : www.meritorious.successadda.in for more updates , content & preparation of exam



82. The molecules of soap are sodium or potassium salts of long chain

(A) Alcohols (B) Ketones

(C) Aldehydes (D) Carboxylic acids

REE & g dwbwt maftot @& @ A a7t U B2 GO 75

(A) M=ETs (B) &
(C) wEstloety (D) aguranfsa Ia™

83. Which of the following plant hormones inhibits growth?
(A) Auxin (B) Abscisic acid
(C) Cytokinins (D) Gibberellins
5 fay Uer 795 ¥ faagr o g e gaiis 37
e
E -_. F i -
(A) . L1 Il(@’{mm«‘ ke

© ARt L) Su(%)ceua\s Adda

84. The gap between tv'o neurons is called a

(A) Dendrite (B) Axon
(C) Synapse (D) Impulse
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85. What is the speed of light in vacuum?
(A) 3 x 10° m/s (B) 3 x 107 m/s

(C) 3 x 10¥ m/s (D) 3 x 10° m/s
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(A) 1x 10° m/s (BY 3 x 100" m/s
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(C) 3 x 107 m/s (D) 3 x 10" m/s

The atomic size of all the clements present in the given group of the Periodic Table follows the trend

(A) Increases (B) Decreases
(C) Remams same (D) First increases then decreases.
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Which of the following is ap.hysiml factor of the Ecosystem?

(A) Plants . . l&lf'ﬂl}t L -‘H: aus
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The image formed by a concave mirror is observed to be virtual, erect and large than the object.
What should be the position of the object?

(A) Between the principal focus and the centre of curvature
(B) At the center of curvature
(C) Beyond the center of curvature

(D) Between the pole of the mirror and its principal focus
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A rainbow is formed when sunlight falls on drops of rain. Which of the following Phenomenon
are responsible for it?

(A) Refraction and reflection

(B) Reflection and dispersion of light
e

(C) Internal reflection
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(D) Refraction, dlspersmn "ﬁjght and internal reflection
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There are .............. groups and ........... periods in Modern Periodic Table?
(A) 18, 7 (B) 17,8
(C) 7, 18 (D) 8, 17
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91. The aNce of a condycgy degiang
S upon :

(A) Length of conducter

(B) Area of cross-section of conductor

(C) Matenal of the conductor (D) All of th b
0 € above
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92. What does thumb indicates according to Fleming’s left Hand Rule?
(A) Dipcation. ot M‘f‘gneﬁc Field (B) Diteétion 69 Blestric Field
(C) Direction of ElCCt.TiC Current (D) Direction of motion of conductor
<afivar far 7 fsoni fe' o ot wamder 37
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(C) famat urar <t ferr (D) I8 € 3t < fenr
93. The phenomenon of Electromagnetic Induction is

(A) The process of charging a body
cQ g ~l
f generating magnetic field due to a current passing through a col

(B) The process ol &

oil due to relative motion between a magnet and the
ac

(C) Producing induced current in
coil

a coil of an electric motor.

(D) The process of rotating
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| 94. Three Resistances of 262, 5€ and 1082 arc connected in parallel. Find the total resistance,
\
! (A) 100 B) 1792
(C) 1.25Q (D) 2.56
fa= yf3aw 20, sQ w3 00 FHTETIE FF A 76| 3% Yf3aU fdaT g=ar
(A) 10Q | (B) 172
(C) 1.25Q ADLO
95. Which among the following diseases is not sexually transmitted?
(A) Syphilis (B) Goitre
(C) AIDS (D) Gonorrhoea
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96. Who proposed the Theory of Evolution ?

(A) John Mendel (B) Robert Hook

(C) J.B.S. Haldane (D) Charles Darwin
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97. Asexual reproduction in yeast takes place |
’ . ¢ dce by

(A) Spores
(B) Fission

(C) Regeneration (D) Budding
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98. Which of the following is a non-renewable source of energy”?
(A) Solar energy - (B)_ Petroleum
(C) Wind energy- ' . (D)j Tidal enéray
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(C) U= Gaar (D) A<9 Gawr
99. An example of homologous organs is
(A) Our arm and dog’s fore-leg (B) Potato and runners of grass
(C) Our teeth and tusks of elephant (D) All of the above
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